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func add(a: Int64, b: Int64): Int64 {
returna + b

}
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//Chapter5/call_demo. cj

func add(paraml: Int64,param2: Int64): Int64 { //i% B paraml Fl param2 & FR LA TE 2
return paraml + param2

}

main() {
vara = 1
var b = 2
let ¢ = add(a, b) /X H a il b R R B SES
println(c)
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func add(paraml! : Int64, param2!: Int64 = 2): Int64 {

return paraml + param2

}
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//Chapter5/multi_params_demo. cj

func lunch(name: String,drink!: String = "4-#3", fruits!: String = "3EF",
stapleFood! : String = "K#R",count!: Int64 = 1,takeOut!: Bool = false): String {
return "Name: ${name} Drink: ${drink} Fruits: ${fruits} StapleFood: ${stapleFood} Count:
${count} TakeOut: ${takeOut}"
}

main() {
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var menu = lunch("/NFE", drink: "4 45", fruits: "3 ", stapleFood: "K¥R", count: 1,
takeOut: false) /715 3% I A 2 500 8 FH 7R )

println(menu)

menu= lunch("/NE") /178 BRAE 14 15 % 2 8000 LU G 2, 1 T BOMMENE 9S50l

println(menu)

menu = lunch("/NgK", stapleFood: " 4&", drink: "WjiME™)
/ /4 %4 2 800 A% 20y ] LA E SCRSE A8 I AN — 2K
println(menu)

}
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Name:/NF Drink: 44} Fruits:3EH StapleFood: K4 Count:1 TakeOut:false

Name: /N Drink: 44} Fruits:3EH StapleFood: K4 Count:1 TakeOut:false
Name:/N#f Drink: i Fruits:3% 9. StapleFood: [fij & Count:1 TakeOut:false
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func add(paranl : Int64,paran2: Int64): Int64 {

return (paraml, param?2)

}
TR AR 2 3UH8 E 1R 1] (B AU I 20 15 i 2 AR B0 R RIS 119 28 B 0% ek B (A b BIT A Y return 2%
3 3O L R 4 5 1 ek RO 2R B2 Y AR B BT s, 23 S AR 1 28 B Ine64 28 A8 .

func add(paraml: Int64, param2: Int64) {
return paraml + param?2

}
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func add(paranl : Int64, param2: Int64): Int64 {

paranl + param2

}
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//Chapter5/local_var_demo. cj
var gloablVar: Int64 = 1

main() {
println(gloablVar)
var gloablVar: Int64 = 5
println(gloablVar)
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//Chapter5/nested_func_demo. cj

main() {
/ /5 £ PR AL incNum
func incNum(num: Int64) {
return num + 1

}

var count: Int64 = 5
count = incNum(count)
println(count)

}
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//Chapter5/local func var demo.cj

//5E X 4R Z% i gloablVar
var gloablVar: Int64 = 1

main() {
println(gloablVar)
// )R 7E B gloablVar i 55 T 4 J51 4% i gloablVar
var gloablVar: Int64 = 5

func localFunc() {
println(gloablVar)
//#%E R %L localFunc ({25 & gloablVar 35 T | )2 i Rl & 28 &
var gloablVar: Int64 = 15
println(gloablVar)

}

localFunc()
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